

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	7	RENE DINELLE	Rene Dinelle	462	62	902	28927	1108	3157
2	2	ANDRE HOTTE	Andre Hotte	404	52	910	28336	1092	2926
3	10	GUY BOISJOLY	Guy Boisjoly	365½	29	850	27858	1114	3205
4	3	RAYMOND BEAULAC	Raymond Beaulac	364½	12	829	28093	1029	3065
5	5	CLAUDETTE BOIVIN	Claudette Boivin	355½	35	820	25337	1078	3040
6	1	CAROLE BENOIT	Carole Benoit	355	46	827	27840	1053	3002
7	13	DANIEL LEMAIRE	Daniel Lemaire	346½	45	821	27767	1103	2983
8	8	HELENE MARCIL	Helene Marcil	339½	29½	771	27537	1017	2984
9	4	MARCEL POULIN	Marcel Poulin	339	27	827	27576	1034	2986
10	14	LORRAINE REGIMBALD	Loraine Regimbal	314	15	798	27258	1052	3055
11	11	DENISE DELVOYE	Denise Delvoye	307	10½	819	27418	1081	3044
12	6	LOUISE ANFOSSI	Louise Anfossi	288	53	811	27177	1026	2937
13	9	THERESE NOURY	Therese Noury	273	34	802	27098	1010	2856
14	12	PIERRE NOURY	Pierre Noury	240½	26	813	26737	1049	2879

*** Although not shown, standings are determined by points only for the current part

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	RENE DINELLE	1018	950	1056	3024	62	CLAUDETTE BOIVIN	980	893	951	2824	35
3-4	HELENE MARCIL	944	891	953	2788	29½	ANDRE HOTTE	967	913	1042	2922	52
5-6	RAYMOND BEAULA	890	880	841	2611	12	GUY BOISJOLY	895	987	827	2709	29
7-8	LORRAINE REGIMBA	896	855	871	2622	15	PIERRE NOURY	917	817	952	2686	26
9-10	MARCEL POULIN	980	891	878	2749	27	DANIEL LEMAIRE	1103	905	880	2888	45
11-12	DENISE DELVOYE	827	812	951	2590	10½	LOUISE ANFOSSI	964	947	1026	2937	53
13-14	THERESE NOURY	949	930	919	2798	34	CAROLE BENOIT	924	943	1031	2898	46

Average List of Regular Team Members

Men Division 1: Division1

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
7	Rene Dinelle	225	75	16937	279	812	13	Jean-Pierre Cardinal	177	66	11708	260	689
13	Daniel Lemaire	218	75	16404	290	745	7	Ronald Busilacchi	171	75	12883	250	609
2	Andre Hotte	210	73	15394	289	753	2	Daniel Gelinas	171	75	12845	266	661
3	Robert Labrosse	207	72	14908	260	716	6	Roger Giroux	170	72	12255	234	582
10	Guy Boisjoly	206	75	15482	283	767	12	Ludger Daoust	170	69	11741	257	655
12	Pierre Noury	196	69	13589	268	750	3	Raymond Beaulac	169	75	12714	223	615
14	Germain Boivin	194	75	14609	280	740	5	Richard Gagnon	166	64	10650	247	654
4	Marcel Poulin	193	75	14503	296	767	1	Alain Brulotte	165	54	8954	237	664
2	Francois Lavalee	191	63	12043	258	658	1	Jocelyn Joly	163	70	11469	239	606
10	Luigi Stival	184	72	13313	257	634	2	Rejean Masson	160	71	11425	233	656
11	Louis Maheu	184	75	13848	256	729	12	Robert Cloutier	142	72	10249	246	604
5	Andre Giroux	184	69	12712	236	630	8	Normand Thibault	140	63	8862	225	631
4	Andre Lacelle	182	71	12952	278	734	4	J-Marc Durocher	139	72	10061	219	527
1	Daniel Robillard	182	63	11492	258	645	3	Yvon Lemieux	138	66	9152	202	576
4	Michel Forget	182	72	13122	255	691	5	Fernand Garon	125	72	9060	189	482
7	Real Langlois	181	63	11439	254	682	11	Raymond Meloche	119	59	7029	194	418
9	Claude Contant	180	63	11346	279	707	8	Jacques Cloutier	118	74	8759	193	499

Women Division 1: Division1

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
6	Louise Anfossi	199	75	14945	300	748	14	Loraine Regimbal	177	75	13349	299	747
11	Denise Delvoye	190	75	14272	279	771	8	Helene Marcil	174	60	10461	262	673
8	Denise Croteau	188	69	12975	256	687	10	Lisette Carrier	173	69	11986	262	667
5	Claudette Boivin	181	60	10868	258	659	12	Carmel Laflamme	170	72	12261	257	687
6	Adele Duval	179	72	12923	255	696	1	Carole Benoit	168	75	12660	245	639
9	Therese Noury	179	69	12367	289	634	11	Carmella Mercury	167	75	12569	223	617
2	Danielle Bergeron	178	61	10873	264	639	14	Lina Lemieux	167	63	10537	247	615

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
3	Diane Busilacchi	167	75	12525	238	621	6	Colette Bernier	148	66	9822	249	557
7	Celine Oullette	166	63	10466	225	570	3	Line St-Hilaire	148	69	10235	219	519
5	Yolande Lalonde	164	72	11859	223	624	13	Rachel Cloutier	143	69	9913	216	556
9	Roxanne Boisjoly	161	75	12127	261	636	14	Maria Thibault	136	60	8216	208	557
11	Carmen Couture	159	72	11517	221	581	12	Denise Narbonne	135	72	9780	212	521
7	Pierrette Beaulac	159	75	11969	227	638	10	Pina Gaspari	132	69	9149	192	516
10	Carole Labelle	155	75	11687	257	642	4	Lise Maheu	131	75	9888	195	481
9	Nicole Gauthier	155	72	11178	234	609	13	Gisele Lepage	129	72	9291	199	505
13	Gisele Tremblay	154	72	11133	268	647	9	Therese Lussier	127	66	8401	217	513
8	Jacinthe Girard	151	57	8649	215	551	14	Connie Pittana	124	75	9355	196	443
1	Monique Dubois	149	72	10737	253	623	6	Nicole Seguin	115	75	8677	178	455

Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14
Today	1-8	5-4	7-11	9-13	10-14	3-2	6-12
Next Week	11-12	7-8	13-14	1-2	3-4	5-6	9-10

Last Week's Top Scores

Handicap Game	1103	DANIEL LEMAIRE	1056	RENE DINELLE	1042	ANDRE HOTTE	
Handicap Series	3024	RENE DINELLE	2937	LOUISE ANFOSSI	2922	ANDRE HOTTE	
Men	Scratch Game	264	Daniel Lemaire	234	Robert Labrosse	233	Rene Dinelle
	Scratch Series	683	Daniel Lemaire	636	Rene Dinelle	623	Germain Boivin
Women	Scratch Game	237	Adele Duval	218	Danielle Bergeron	213	Louise Anfossi
	Scratch Series	571	Louise Anfossi	544	Danielle Bergeron	527	Adele Duval

Season High Scores

Handicap Game	1114	GUY BOISJOLY	1108	RENE DINELLE	1103	DANIEL LEMAIRE
Handicap Series	3205	GUY BOISJOLY	3157	RENE DINELLE	3065	RAYMOND BEAULAC
Men	<u>Scratch Game</u>			<u>Scratch Series</u>		
	296	Marcel Poulin	812	Rene Dinelle		
	290	Daniel Lemaire	767	Marcel Poulin		
	289	Andre Hotte	767	Guy Boisjoly		
	283	Guy Boisjoly	753	Andre Hotte		
	280	Germain Boivin	750	Pierre Noury		
	279	Rene Dinelle	745	Daniel Lemaire		
	279	Claude Contant	740	Germain Boivin		
	278	Andre Lacelle	734	Andre Lacelle		
	268	Pierre Noury	729	Louis Maheu		
	266	Daniel Gelin	716	Robert Labrosse		

Season High Scores - Continued**Women**

300	Louise Anfossi	771	Denise Delvoye
299	Lorraine Regimbal	748	Louise Anfossi
289	Therese Noury	747	Lorraine Regimbal
279	Denise Delvoye	696	Adele Duval
268	Gisele Tremblay	687	Denise Croteau
264	Danielle Bergeron	687	Carmel Laflamme
262	Helene Marcil	673	Helene Marcil
262	Lisette Carrier	667	Lisette Carrier
261	Roxanne Boisjoly	659	Claudette Boivin
258	Claudette Boivin	647	Gisele Tremblay

Team Rosters

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Ave</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>	<u>Weekly Over Ave Game Ave +/-</u>	<u>Weekly Over Ave Series Ave +/-</u>
1 - CAROLE BENOIT									
Monique Dubois	10737	72	149	116	106	122	344	122 - 150=-28	344 - 450=-106
Jocelyn Joly	11469	70	163	169	156	154	479	169 - 164=5	479 - 492=-13
Alain Brulotte	8954	54	165	147	177	190	514	190 - 165=25	514 - 495=19
Daniel Robillard	11492	63	182	175	176	221	572	221 - 182=39	572 - 546=26
Carole Benoit	12660	75	168	147	158	174	479	174 - 169=5	479 - 507=-28
2 - ANDRE HOTTE									
Rejean Masson	11425	71	160	161	153	160	474	161 - 161=0	474 - 483=-9
Daniel Gelin	12845	75	171	194	164	163	521	194 - 171=23	521 - 513=8
Danielle Bergeron	10873	61	178	176	150	218	544	218 - 178=40	544 - 534=10
Francois Lavalee	12043	63	191	190	171	181	542	190 - 191=-1	542 - 573=-31
Andre Hotte	15394	73	210	158	187	232	577	232 - 211=21	577 - 633=-56
3 - RAYMOND BEAULAC									
Yvon Lemieux	9152	66	138	136	130	88	354	136 - 139=-3	354 - 417=-63
Line St-Hilaire	10235	69	148	106	110	133	349	133 - 149=-16	349 - 447=-98
Diane Busilacchi	12525	75	167	147	127	106	380	147 - 168=-21	380 - 504=-124
Robert Labrosse	14908	72	207	210	234	166	610	234 - 207=27	610 - 621=-11
Raymond Beaulac	12714	75	169	124	112	181	417	181 - 170=11	417 - 510=-93

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
4 - MARCEL POULIN									
Lise Maheu	9888	75	131	145	96	125	366	145 - 132=13	366 - 396=-30
J-Marc Durocher	10061	72	139	123	96	100	319	123 - 141=-18	319 - 423=-104
Michel Forget	13122	72	182	185	138	140	463	185 - 183=2	463 - 549=-86
Andre Lacelle	12952	71	182	159	198	155	512	198 - 182=16	512 - 546=-34
Marcel Poulin	14503	75	193	199	194	189	582	199 - 193=6	582 - 579=3
5 - CLAUDETTE BOIVIN									
Fernand Garon	9060	72	125	97	111	81	289	111 - 127=-16	289 - 381=-92
Yolande Lalonde	11859	72	164	173	173	155	501	173 - 164=9	501 - 492=9
Richard Gagnon	10650	64	166	181	136	170	487	181 - 166=15	487 - 498=-11
Andre Giroux	12712	69	184	171	115	187	473	187 - 185=2	473 - 555=-82
Claudette Boivin	10868	60	181	a181	a181	a181	543		
6 - LOUISE ANFOSSI									
Nicole Seguin	8677	75	115	102	121	100	323	121 - 116=5	323 - 348=-25
Colette Bernier	9822	66	148	158	117	168	443	168 - 148=20	443 - 444=-1
Roger Giroux	12255	72	170	154	182	173	509	182 - 170=12	509 - 510=-1
Adele Duval	12923	72	179	149	141	237	527	237 - 179=58	527 - 537=-10
Louise Anfossi	14945	75	199	213	198	160	571	213 - 199=14	571 - 597=-26
7 - RENE DINELLE									
Celine Oullette	10466	63	166	178	149	193	520	193 - 165=28	520 - 495=25
Pierrette Beaulac	11969	75	159	186	154	161	501	186 - 159=27	501 - 477=24
Real Langlois	11439	63	181	162	175	194	531	194 - 181=13	531 - 543=-12
Ronald Busilacchi	12883	75	171	161	179	202	542	202 - 171=31	542 - 513=29
Rene Dinelle	16937	75	225	233	195	208	636	233 - 226=7	636 - 678=-42
8 - HELENE MARCIL									
Jacques Cloutier	8759	74	118	92	81	90	263	92 - 119=-27	263 - 357=-94
Normand Thibault	8862	63	140	137	115	135	387	137 - 141=-4	387 - 423=-36
Jacinthe Girard	8649	57	151	a151	a151	a151	453		
Denise Croteau	12975	69	188	164	144	177	485	177 - 189=-12	485 - 567=-82
Helene Marcil	10461	60	174	a174	a174	a174	522		
9 - THERESE NOURY									
Therese Lussier	8401	66	127	133	154	131	418	154 - 126=28	418 - 378=40
Nicole Gauthier	11178	72	155	102	108	153	363	153 - 156=-3	363 - 468=-105
Roxanne Boisjoly	12127	75	161	173	124	132	429	173 - 162=11	429 - 486=-57
Claude Contant	11346	63	180	166	169	128	463	169 - 181=-12	463 - 543=-80
Therese Noury	12367	69	179	a179	a179	a179	537		
10 - GUY BOISJOLY									
Pina Gaspari	9149	69	132	135	132	132	399	135 - 132=3	399 - 396=3
Lisette Carrier	11986	69	173	140	140	135	415	140 - 175=-35	415 - 525=-110
Carole Labelle	11687	75	155	107	164	95	366	164 - 157=7	366 - 471=-105
Luigi Stival	13313	72	184	166	185	162	513	185 - 185=0	513 - 555=-42
Guy Boisjoly	15482	75	206	202	221	158	581	221 - 206=15	581 - 618=-37
11 - DENISE DELVOYE									
Raymond Meloche	7029	59	119	80	81	116	277	116 - 120=-4	277 - 360=-83
Carmen Couture	11517	72	159	a159	a159	a159	477		
Carmella Mercury	12569	75	167	119	128	156	403	156 - 168=-12	403 - 504=-101
Louis Maheu	13848	75	184	130	122	174	426	174 - 186=-12	426 - 558=-132
Denise Delvoye	14272	75	190	163	146	170	479	170 - 191=-21	479 - 573=-94

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
12 - PIERRE NOURY									
Robert Cloutier	10249	72	142	a142	a142	a142	426		
Denise Narbonne	9780	72	135	117	98	106	321	117 - 137=-20	321 - 411=-90
Carmel Laflamme	12261	72	170	165	92	145	402	165 - 171=-6	402 - 513=-111
Ludger Daoust	11741	69	170	124	138	182	444	182 - 171=11	444 - 513=-69
Pierre Noury	13589	69	196	187	165	195	547	195 - 197=-2	547 - 591=-44
13 - DANIEL LEMAIRE									
Gisele Lepage	9291	72	129	170	135	135	440	170 - 128=42	440 - 384=56
Rachel Cloutier	9913	69	143	186	146	141	473	186 - 143=43	473 - 429=44
Gisele Tremblay	11133	72	154	145	96	113	354	145 - 156=-11	354 - 468=-114
Jean-Pierre Cardinal	11708	66	177	162	136	112	410	162 - 179=-17	410 - 537=-127
Daniel Lemaire	16404	75	218	264	216	203	683	264 - 218=46	683 - 654=29
14 - LORRAINE REGIMBALD									
Connie Pittana	9355	75	124	97	108	87	292	108 - 125=-17	292 - 375=-83
Maria Thibault	8216	60	136	138	83	96	317	138 - 138=0	317 - 414=-97
Lina Lemieux	10537	63	167	161	111	98	370	161 - 169=-8	370 - 507=-137
Lorraine Regimbal	13349	75	177	112	152	171	435	171 - 179=-8	435 - 537=-102
Germain Boivin	14609	75	194	193	206	224	623	224 - 194=30	623 - 582=41